Calculus IV Quiz § Fall 1999 11/15/99

Green's Theorem (provided the proper conditions apply):

Pdx + Qdy = 90 9P\ 44
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1. Use Green’s Theorem to compute ¢ (x2+y?)dx - xyZ2dy where C is the positively oriented
p

rectangle having vertices (0,0), (2,0), (2,4), and (0,4). Yy
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2. Compute the curl of thc vector ﬁeld F(x,y,z) = x4 - yzj + (x+y+z)K. 3



2. Compute the curl of the vector field F(x,y,z) = xi - yzj + (x+y+2)k.
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3. Compute the divergence of the vector field F(x,y,z) = x1 - yz) + (x+y+z)K.
; \
L T Yoo AT 4?2 (Readt)
/,' < & v /'\\’“J‘ A t /é 2 U N

EREPER 'Z’i’!

(’JU*' il:—-” ‘xk——z.}m ‘ -




